
Texas Hunter Products, Inc. – 3350 IH 35 N – San Antonio, TX 78219 – (800) 969-3337 – TexasHunter.com 

                                                                                                    
 

 
EZ 612 TIMER INSTRUCTIONS 

 
 
 
Hanging Bracket Instructions  
 
Qty Description 
1 Hanging Bracket 
2 Steel Support Plates 
4 5/16” X 1 ¼” Bolts 
8 5/16” Flat Washers 
4 5/16” Lock Washers 
4 5/16” Nuts 
 
 
 
 
 
 
 

 

 
 

A 

TF300 / Barrel Feeder Installation 
Drill a 5/16” hole in the area labeled A.  
The center of the hole will be 3 ¼” from 
the top of the feeder and 11” from the 
side edge.  Use the Steel Support as a 
pattern for the second hole.  Repeat the 
process for the opposite side of the 
feeder.   
 
Attach the bracket by placing a flat 
washer on the bolt and insert the bolt  
through the bracket, feeder wall and then 
the steel support inside hopper.  Install 
flat washer, lock washer, and nut. 
 
 

Support 
Plate to be 
mounted 
inside the 
feeder 

 

Hanging Bracket 
 

HB1 


	EZ 612 TIMER INSTRUCTIONS
	Hanging Bracket Instructions

	Hanging Bracket
	HB1
	TF300 / Barrel Feeder Installation


